Using Excel for Statistics

· What is your name?
MOHAMMED MAZI IDRIS
· What is the email you used to register at AIU?
idiptg@gmail.com
· What is the email of your Tutor?
cyndy@aiu.edu
· You throw a rock 10 times into a hat from different distances. Increase the distance by 3 feet each time. So from each distance you are throwing 10 rocks into the het. The distances are the independent variable. The number of times that the rock lands in the hat is the dependent variable. In your Excel application, place the variables in two columns. The first column is the independent variable of the distances. The second column is the dependent variable of how many rocks went into the hat from that distance
X (Ind) Y (Dep)
3 7
6 4
9 7
12 10
15 4
18 10
Dependent variable above was secured randomly between (0,10) since number of times Rock was thow into the Hat is 10times, using this formulae =RANDBETWEEN(0,10). Meanwhile, independent variables were supplied ineach 3 feet away.
· Using the data of throwing rocks, create a scatter plot graph of your data. Now add a linear trendline into the graph. Does the line slope up or down to the right? Does this make sense? Why or why not?
1. scatter plot graph of the data will be send later with MS_Word document, as it is not displying.

2. it will contain Linear trendline into the graph.

3. Line slope up to the right.
Reason: Due to dependent variable randomly secured.

4. it make sense:

5. Reason Why?
A. Because correlation = 35.9% for plotted graph.
B. Significance F = 49% ~0.485 of data analyzed.
· Now add the equation of the trendline and the R-squared value into the graph. Write the equation for the trendline here.
Y = 0.1714x + 5.2
R² = 0.1286
· Now create a Regression Analysis using Data Analysis in your Excel. Look at the output results, do the coefficients in the output equal the coefficients from your trendline equation?
* R2 squared = 0.12857
* Observations at ~ (6)
* Standard Error at ~2.80051
* Confidence level at ~
{Lower = -0.239} & {Upper =12.439}

COEFFICIENTS OF OUTPUT EQUAL TRENDLINE EQUATION:
* Coefficients of intercept output = 5.2
* Coefficients of Trendline ~ y = 0.1714x + 5.2
*R² = 0.1286
*coefficients of independent output = (0.1714)
· Now analyze the data. What does the data show you? Does the distance away from the hat affect the number of times that the rock goes into the hat?
DATA ANALYSIS
* T-stat of (1.995 & 0.768)
* Significance F at 49% ~ 0485
* P-value at (0.117 & 0485)
* Correlation at 35.9% ~ 0.359
* Accuracy of intercept (df) & (ss);
Regression ~ 1
Residual ~ 4
Total = 5
(ss) ~36
· Give another example of an experiment where you could use the regression analysis of Excel to analyze the data?
* Experimental example of polio disease reduction
with descriptive analysis and regression analysis in
the world.

* Experimantal example of total populace living with
HIV/AIDS diseases in the world using regression
analysis and T-test hypothesis of persons placed on
ART medications.

* Rate of transmission of COVID 19 variants in human
to human using regression analysis as a differential
for the following variants;
~ Alpha Variants
~ Beta Variants
~ Delta Variants
~ Omicron Variants
· How could you use this knowledge to be increase your value as an employee?
* Use statistical knowledge to forecast future
expectations and productivity of my organization.

* statistical Knowledge can be use to analyze project
thesis, assignments and development of innovative
ideas.

* statistical knowledge can be use to measure
accuracy and limitation capacity of my
organizations.

* Use the knowledge to learn better in AIU.
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